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$ sudo apt update # IR —IJ—BEZEHITD
$ sudo apt install tenes # TeNeS ZEH I D

(5CED $ BANFTFERREBZRIEESLDOTAALEBEWVWTLZEW)
#LBEFZOAY R ERUTWEYT, AHUBRLCTKRIEEKTY)

— N

$ tenes --version # /N—I 3 U
TeNeS v2.0.0 # OKl!I
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$ cd # HOME directory N\ &
$ cp -r /usr/share/tenes . # TeNeS O V)& I —

$ cd tenes/sample

(T 7AINABREFERERTAALULRIC Tab F— =T EEEMTAIETI)

Y T7IVDEBIEFa— MU ZILEbEIRULTLIEE L
https://issp-center-dev.github.io/TeNeS/manual/vZ2.0.0/
Ja/html/tutorial/index.html



https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/index.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/index.html

Sample—] 5 i AR - Eit

https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/
Ol transverse field ising.html
OB & U CIETE AR A4 & v 7 2 0 £
S=1/2 DEHEFTELPN TS Z & ERFFITHTER
hx ~ 1.5 72D ICEFHIEELRH D £§ H = J, ZSZSZ h. ZS:U

$ cd 91_transverse_field_ising (i7)
$ cat simple.toml # AN T 71 ILDHES
. Skipped ...

[lattice]

type = "square lattice" I1IFHI&F

L = 2

W= 2 2x2 1w k)l

virtual_dim = 2 Y R =2

initial = "ferro"

[model]

-t — 3 [ o -

2= 10 PV L

x _ 8'8 SR > > Jz=-1, Jx=Jy=0

hx = 0.0 g hx = 0


https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/01_transverse_field_ising.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/01_transverse_field_ising.html

sample-1 #&gH1 2 > J1RE

AN 7 74V simple.toml Zinput.toml ~EZEH#aL T tenes %% T

$ tenes_simple simple.toml # convert to std.toml

$ tenes_std std.toml # convert to 1nput.toml

$ tenes input.toml # main calculation
# ... Skipped

Onesite observables per site: . .
Sz - 9.5 0 <Sz> DEEL - EE
SX = -1.28526262482e-13 O <«Sx> OEZR - EIF

Twosite observables per site:
bond hamiltonian = -0.5 @ IX/LF—

SzSz = 9.5 0 o
SXSX = -1.7374919982¢-18 o mIEMEE
SySy = 1.73749202733e-18 0

# ... Skipped ... 5
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HARIIZIZ, hx = 38 ZTCHAET

$ mv output output hxe # SHEEREZEBEHL T KL
$ mousepad simple.toml # AN T 7T ILERE

[model] [model]

type = "spin" type = "spin"
Jz = -1.0 be Jz = -1.0

JX = 0.0 JX = 0.0

Jy = 0.0 Jy = 0.0

hx = 0.0 hx = 3.0

(mousepad [FXERD K SBEHMAZTT 5 TY)
(MALIVE! [ZiZftEicH vim, emacs, nano A > TWAD TEFEICE S5 F)
(MALIVE! on docker Tl vim & emacs D& ? )



sample-1 #&gH1 2 > J1RE

WL 72 simple.toml Zinput.toml ~&Z#iL T tenes %5

$ tenes
$ tenes_

$ tenes
# ...

Onesite
Sz

Sx
Twosite

17

N

simple simple.toml # convert to std.toml
std std.toml # convert to 1nput.toml
input.toml # maln calculation

Skipped

observables per site:
= 8.05352165651e-09 0@ <Sz> DR « EHD
= 0.492509565167 © <Sx> DEIR - IR
observables per site:

bond hamiltonian = -1.52140952585 9 L =RJILF—

SzSz
SxSx
SysSy

# ...

= 0.0438808303474 O
= 0.488706591605 0 HITEMHE
= -0.0407090179083 ©

Skipped ... 7
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output 74 L7 M VICHICFEI AR B I INET
PIZIE S 2 ED1IY A FEET OV A MMEOWIRFEIX onesite_obs.dat It

head -n 15 output/onesite_obs.dat

The meaning of each column 1s the following:
$1: op_group

$2: site index

$3: real

$4: imag

The names of op_group are the following:

0: Sz

1: Sx

-1: norm

H H HHHHTFHHHS

O 8.05355781518271669e-09 0.00000000000000000e+00
1 8.0535568/599646/56e-09 0.00000000000000000e+00
2 8.05355869912270925e-09 0.00000000000000000e+00
3 8.05355698648896249e-09 0.00000000000000000e+00
0 4.92509565166792174e-01380.00000000000000000e+00

P OO0
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W2 3T LT OB 28D 06RE LT L ETHIEBERZBHITE £

HIEE2 T30 EAELRDO T a5 L0 %2EL OPRRWTT

tutorial_example.py & tutorial_read.py PHEINTWVE T

$ mv output output_hx3 # — I

$ python3 tutorial example.py #
$ python3 tutorial read.py #

SAERRZEEL THL

Olc9 5%E17

STEBR%Z S

L E® D

0.0 -5.00000000000000000e-01 5.00000000000000000e-01

-1.28526262481782106e-13

0.2 -5.05004176692116613e-01 4.97482489246813320e-01

5.00836559134336876e-02

0.4 -5.2006/358911737165e-01 4.89712356048554176e-01

1.00677102836350646e-01
# ... Skipped

$ python3 tutorial_read.py > result.dat # J 7 T ILAKRRE
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X7 A O ERIZNEZ I,
Rtk hx
YA bHLHDIZ RN F —
YA +dH7% D DfenkAl Sz
YA+ dH7 ) DRkl Sx
gnuplot ©7uy FLTAHAZEL &9

$ gnuplot
ghuplot> set style data 1p

(5%) 5 (5%)

3

0.5 §

s (5%) _

0.3 | y

0.2 | 1

0.1 | 1

o I I e e ——
0 0.5 1.5 2 25
'Sz"', ul:4 t 'Sx'

gnuplot> pl 'result.dat' u 1:3 t

(%@@%ﬁ?ﬁﬁyHW%@E@A4N—R3%—&%ﬁi?%%@ﬂﬁ@b#t%ﬁ%bi?)
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e Q2_time_evolution
https://issp-center-dev.github.io/TeNeS/manual/vZ2.0.0/ja/html/tutorial/

02 time evolution.html
L5161 S=1/2 #igm A ¥ v 7B g5
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https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/02_time_evolution.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/02_time_evolution.html

Z DT> T

e Q3_finite_temperature
https://issp-center-dev.github.io/TeNeS/manual/vZ2.0.0/ja/html/tutorial/

03 finite temperature.html

IET7H&F S=1/2 K& A >~ v VO ARG E
v2.0.0 @ plot_mz.plt, (a) (b)

0 ‘

plot_ mx.plt 75 MALIVE! 3 *f R
¥ LB\ OD TR D IEE S I :
158f7H o e B
* set locale "ja_JP.UTF-8" (C)”l T P
ZIHT & X 05y T o @% B
v2.0.0 @ calcspec.py (3 hEh o) E§§ —— ol T
GO WROHBEGHL v & 0 s ||
1647 H @ for loop (Z ois | : 0215? 1
"zero" ZiBNY LI R 0'?"510 % 0w | Lo

005 115 225 335 4455 005 1152253354455

MALIVE! TIZELTH 3 T T


https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/03_finite_temperature.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/03_finite_temperature.html

Z DT> T

e Q4_magnetization

- https://issp-center-dev.github.io/TeNeS/manual/vZ2.0.0/ja/html/tutorial/

04 magnetization.html
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https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/04_magnetization.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/04_magnetization.html

Z DT> T

e Q5_hardcore_boson_triangular
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/

05 hardcore boson triangular.html
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https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/05_hardcore_boson_triangular.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/05_hardcore_boson_triangular.html

Z DT> T

o @6 std_model
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/

06 _std model.html

std.toml Zf&E L TR ZEET L2 70

MG T oA e R %GR L CNeel 1REED ITNSZ2 15 %
tensor_save = "To LIV MUZ" THELSNIREE 2 RE 1] EE
tensor_load = "7+ L7 MUR" CTHIHIREE & L-CTHIH ] EE

15


https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/06_std_model.html
https://issp-center-dev.github.io/TeNeS/manual/v2.0.0/ja/html/tutorial/06_std_model.html

Z DT> T

e AFH_square
+ 1EJ5t&F S=1/2 BN A ¥ v )L F

- Y PRI full update D AT v 78z R A7 & ZITH 6N 5 R EIRGE
IV F— DR 5 HE

0.012

0.01

0.008

(E-Egmc)/|Egmc]|

0.006

0.004

0.002 . :

1/D

16



Z DT> T

e FT_Kitaev

e D Bitg - S=1/2 Kitaev B o A B AL G5

oapless (blue symbols)
Jx=Jy=1Jz=1
oapfull (red symbols)

Jx =0.3
Jy =0.3
Jz = 2.4

FHEL L BRI TPQEE

Gnuplot7+s> K20

_0.05 M i " M PR S T . | M i M M i a1 i M i i a1
0.01 01 1 10
temperature
6.56640, 0.189958
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sample DL Fi2d 3Python 227V 7 M2 DWW T
tenes  tenes_simple 7 K2 &ffiZe LICETL T
NSDETT7 7ANAND PATH BXES> TR 0ENH D 7

tenes 7 MPI 3

MES

MPI cmd % &1

OpenMP D514 1%
R FRITH/N S b)f% (ZNEHN I Z PR S L 7213 9 DS NTT

tenes_simple / tenes_std TlIv> < 2 DPython /Sy 7 — DT

NumPy, SciPy, toml

—

fTL7-0gEE. A2Y 7 M PORIIOFIZH 5

F LT 23

i © MPI_cmd = "mpiexec -np 2"

15322 %0 OMP_NUM_THREADS ZixE L TL 723 \»

ETRICH O o o -85 EEANE L k9

pip3 i1nstall --user numpy scipy toml

——user i) EHTDEHR—LT4 L7 PIMPIZAVAI—=INLTEET
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